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Answer ALL questions. Write your answers in the spaces provided.

Some questions must be answered with a cross in a box X. If you change your mind about an
answer, put a line through the box £ and then mark your new answer with a cross [X.

You will need to use the data on page 2 of the Resource Booklet to answer parts (a)
and (d).

1 (a) Prepare the suspense account.

Suspense Account

(b) Identify which one of the following is an error of principle.

[] A Payment for motor expenses entered in general expenses
[ B Payment for motor expenses entered in motor vehicles

[J € Payment for motor expenses not entered in the cash book
[ D Paymentfor motor expenses entered in the cash book twice

(c) Identify the book of original entry used to record goods returned to a supplier.

A Purchases day book
B Returnsinwards day book

C Returns outwards day book
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(d) Prepare the statement of financial position at 31 October 2019.
(10)

Manu
Statement of financial position at 31 October 2019

(Total for Question 1 = 18 marks)
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You will need to use the data on page 3 of the Resource Booklet to answer parts (b), (c)
and (d).

2 (a) Identify which one of the following would be entered on the credit side of a
partner’s current account.
(1)
]

]
]
[ D Shareofloss

Drawings

Interest on capital

n @ >

Interest on drawings

(b) Prepare the realisation account.
(12)

Realisation Account
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(c) Prepare the capital account for Tori.
(6)

Capital Account - Tori

(Total for Question 2 = 22 marks)
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You will need to use the data on page 4 of the Resource Booklet to answer parts (a), (b),
(c) and (e).

3 (a) Prepare a journal entry to record the irrecoverable debts to be written off for the
year ended 30 September 2019.

A narrative is required.

Journal

Debit Credit
$ $

Date Account

30 September 2019

(b) (i) Calculate the allowance for doubtful debts at 30 September 2019.

(ii) Prepare the allowance for doubtful debts account for the year ended
30 September 2019. Balance the account on this date and bring the balance
down on 1 October 2019.

Allowance for Doubtful Debts Account

(iii) Identify the effect on profit of an increase in the allowance for doubtful debts.

[J A Gross profit decrease
[0 B Gross profit increase
[J € Profit for the year decrease
[J D Profit for the year increase

P 6 4 5 2 7 A 0 6 1 2

VIdY SIHL NI F1LIIM LONOG
DO NOT WRITE IN THIS AREA

VIV SIHLNEILEIM LON. O
DO NOTWRITE IN-THIS'AREA

VISV SIHLNEILIIM 1ON-OC
DO NOTWRITEIN THIS AREA



UZ
O
=
SO
]
=
il
oo 1t
2
)
et
St
Sy
SR
293==)
i

DO:NOT WRITE IN-THIS AREA

DO NOTWRITE INTHIS AREA

-DONOTWRITE IN THIS:AREA

( )
(c) Calculate the amount received from credit customers for the year ended
30 September 2019.
(3)
(d) Explain one way how a trade receivables ledger control account can reduce the
risk of fraud.
(2)
(e) Prepare an extract of the statement of profit or loss for the year ended
30 September 2019 showing the trading section only.
(5)
Aya
Statement of profit or loss for the year ended 30 September 2019
(Total for Question 3 = 20 marks)
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You will need to use the data on pages 5 and 6 of the Resource Booklet to answer parts
(@), (b) and (c).

>( 2

5

4 (a) Calculate the charge to the statement of profit or loss for the year ended
30 September 2019 for:

(i) profit or loss on disposal of office equipment
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(b) Prepare the statement of profit or loss for the year ended 30 September 2019.
(13)

Akos
Statement of profit or loss for the year ended 30 September 2019
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(c) Calculate the value of inventory to be shown in the statement of financial position
at 30 September 2019.

(d) Identify which one of the following non-current assets would be more
appropriate to be depreciated using the revaluation method.
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A Computer equipment

(N
[J B Delivery vehicle 3*'; |
o -
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C Loose tools
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(Total for Question 4 = 22 marks)
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You will need to use the data on page 7 of the Resource Booklet to answer parts (b), (d)

(@) (i) Identify which one of the following is not an accounting concept.

5 N R B
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Business entity
Confidentiality

Materiality

[l D Realisation

(1)

(ii) Explain how the going concern concept is applied when a business is

closing down.

(b) Complete the table for the year ended 31 October 2019.

(6)

Ratio

Formula

Answer (correct to
2 decimal places)

Gross profit as a percentage

of cost of sales (mark-up)

Profit for the year as a
percentage of revenue

Rate of inventory turnover
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(c) Complete the table, indicating with a tick (v'), the classification of each item.
(3)

Capital | Revenue | Provision
reserve reserve

Allowance for doubtful debts

Retained earnings

Share premium

(d) Explain one reason why Birdnom Ltd has a bank overdraft even though it has
made a profit for the year.

(Total for Question 5 = 18 marks)

TOTAL FOR PAPER = 100 MARKS
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